

**C I T Y   O F   A P P L E T O N**  
**Department of Public Works**  
**MEMORANDUM**

---

**TO:**  **Finance Committee**  
 **Municipal Services Committee**  
 **Utilities Committee**

**SUBJECT: Award of Contract**

---

**The Department of Public Works recommends that the following described work:**

**A-26 Concrete Paving**

---

**Be awarded to:**

Name: Vinton Construction Co

Address: 1322 33rd Street

Two Rivers, WI 54241

---

**In the amount of : \$3,755,429.12**

**With a 1.5 % contingency of : \$55,000.00**

**For a project total not to exceed : \$3,810,429.12**

**\*\* OR \*\***

**In an amount Not To Exceed : \_\_\_\_\_**

Budget: \$3,816,947.00

Estimate: \$3,850,000.00

Committee Date: 02/09/26

Council Date: 02/18/26

**CITY OF APPLETON**  
**Contract Funding Form**

TO: Finance Department

FROM: Mark Lahay - Dept. of Public Works

DATE: 2/9/2026

SUBJECT: Funding for Contract:

<u>A-26</u>	<u>Concrete Paving</u>	
Unit No.		Description
	<u>AWARD DATE:</u>	<u>2/18/2026</u>
	<u>AWARD TO:</u>	<u>Vinton Construction Co</u>
		<u>1322 33rd Street</u>
		<u>Two Rivers, WI 54241</u>

Funding for the project will be as follows:

Item No.	Account No.	Account Description	Contract Amount	Contingency	Total Contract
1.	4240.6809.01	conc pavt	\$648,676.12	\$15,000.00	\$663,676.12
2.	4240.6809.02	conc sidewalk	\$450,036.20	\$0.00	\$450,036.20
3.	4010.6809.01	new subd conc pavt	\$1,459,296.95	\$20,000.00	\$1,479,296.95
4.	4010.6809.02	new subd conc sidewalk	\$514,426.20	\$5,000.00	\$519,426.20
5.	17014.6809.01	conc pavt	\$602,499.12	\$10,000.00	\$612,499.12
6.	5431.6809.	Sanitary	\$13,293.00	\$1,000.00	\$14,293.00
7.	5230.6809.	Storm	\$67,201.53	\$4,000.00	\$71,201.53
		<b>TOTAL</b>	<b>\$3,755,429.12</b>	<b>\$55,000.00</b>	<b>\$3,810,429.12</b>

\_\_\_\_\_  
 Public Works \_\_\_\_\_ Date \_\_\_\_\_

\_\_\_\_\_  
 Finance Department \_\_\_\_\_ Date \_\_\_\_\_

cc: Project File

2/4/2026

<https://cityofappleton.sharepoint.com/sites/PublicWorks-Teams/Shared%20Documents/DPW%20City%20Hall/Engineering/PROJECTS/2026/A-26%20Concrete%20Paving/A-26%20Contract%20Funding%20Form.xlsx>

Section Title A-26 BASE BID	Line Item	Item Description	UofM	Quantity	Vinton Construction Company		Zignego Company, Inc.	
					Unit Price	Extension	Unit Price	Extension
	1	F&I 7" PLAIN CONC PVMT	SY	20080	\$48.08	\$965,446.40	\$54.50	\$1,094,360.00
	2	F&I 8" 3-DAY HES CONC PVMT	SY	75	\$58.22	\$4,366.50	\$97.11	\$7,283.25
	3	F&I 8" DOWLED CONC PVMT	SY	11705	\$54.22	\$634,645.10	\$60.20	\$704,641.00
	4	F&I 9" DOWLED CONC PVMT	SY	515	\$65.00	\$33,475.00	\$97.11	\$50,011.65
	5	F&I 12" CONC APPROACH SLAB	SY	155	\$235.00	\$36,425.00	\$200.00	\$31,000.00
	6	F&I 3" ASPHALT PAVEMENT	SY	90	\$70.00	\$6,300.00	\$74.95	\$6,745.50
	7	F&I 12" STONE BASE	SY	912	\$11.70	\$10,670.40	\$13.25	\$12,084.00
	8	EXCAVATION	CY	518	\$32.63	\$16,902.34	\$36.56	\$18,938.08
	9	F&I GEOGRID	SY	912	\$2.00	\$1,824.00	\$3.95	\$3,602.40
	10	FINE GRADING	SY	32391	\$1.50	\$48,586.50	\$0.01	\$323.91
	11	EXCAVATE AND HAUL CONTAM. SOIL	TON	25	\$0.01	\$0.25	\$65.05	\$1,626.25
	12	F&I EXTRA STONE BASE	TON	50	\$20.00	\$1,000.00	\$22.40	\$1,120.00
	13	F&I 36" CONC CURB & GUTTER (12" CURB HEAD)	LF	215	\$45.00	\$9,675.00	\$60.00	\$12,900.00
	14	F&I 30" CONC CURB & GUTTER	LF	70	\$35.00	\$2,450.00	\$68.00	\$4,760.00
	15	F&I 24" CONC CURB & GUTTER	LF	30	\$15.00	\$450.00	\$65.00	\$1,950.00
	16	F&I 18" CONC CURB & GUTTER	LF	410	\$15.00	\$6,150.00	\$64.00	\$26,240.00
	17	F&I 18" CONC MEDIAN SLOPE NOSE	SF	55	\$15.00	\$825.00	\$16.00	\$880.00
	18	F&I 7" CONC DRIVEWAY APRON	SF	330	\$10.15	\$3,349.50	\$10.75	\$3,547.50
	19	F&I 5" CONC DRIVEWAY APRON	SF	36955	\$8.70	\$321,508.50	\$8.72	\$322,247.60
	20	F&I 1-DAY HES 5" CONC DRIVEWAY APRON	SF	200	\$9.15	\$1,830.00	\$11.20	\$2,240.00
	21	F&I 7" CONC SIDEWALK	SF	400	\$9.70	\$3,880.00	\$12.00	\$4,800.00
	22	F&I 5" CONC SIDEWALK	SF	89860	\$8.22	\$738,649.20	\$8.62	\$774,593.20
	23	F&I 1-DAY HES 5" CONC SIDEWALK	SF	200	\$9.50	\$1,900.00	\$12.50	\$2,500.00
	24	F&I 4" CONC SIDEWALK	SF	24270	\$8.70	\$211,149.00	\$7.88	\$191,247.60
	25	F&I 7" CONC HANDICAP RAMP	SF	3055	\$11.00	\$33,605.00	\$9.55	\$29,175.25
	26	F&I CURB RAMP DETECTABLE WARNING FIELD - RECTANGULAR PLATES	SF	434	\$34.00	\$14,756.00	\$40.00	\$17,360.00
	27	F&I CURB RAMP DETECTABLE WARNING FIELDS - RADIAL PLATES	SF	33	\$55.00	\$1,815.00	\$45.00	\$1,485.00
	28	F&I 7" PRIVATE CONC DRIVEWAY	SF	50	\$8.15	\$407.50	\$19.00	\$950.00
	29	F&I 5" PRIVATE CONC DRIVEWAY	SF	1030	\$7.15	\$7,364.50	\$9.35	\$9,630.50
	30	F&I 3" PRIVATE ASPHALT DRIVEWAY	SF	1775	\$5.50	\$9,762.50	\$9.80	\$17,395.00
	31	CONCRETE PAVEMENT REMOVAL	SY	555	\$14.70	\$8,158.50	\$4.40	\$2,442.00
	32	ASPHALT PAVEMENT REMOVAL	SY	33267	\$2.50	\$83,167.50	\$2.45	\$81,504.15
	33	CONCRETE CURB & GUTTER REMOVAL	LF	520	\$4.00	\$2,080.00	\$3.50	\$1,820.00
	34	ASP/CONC DRIVEWAY APRON REMOVAL	SF	39787	\$0.70	\$27,850.90	\$0.45	\$17,904.15
	35	ASP/CONC HC RAMP REMOVAL	SF	465	\$1.50	\$697.50	\$0.85	\$395.25
	36	ASP/CONC SIDEWALK REMOVAL	SF	14807	\$0.60	\$8,884.20	\$0.45	\$6,663.15
	37	PRIVATE CONC DRIVE REMOVAL	SF	1055	\$1.00	\$1,055.00	\$0.91	\$960.05
	38	PRIVATE ASP DRIVE REMOVAL	SF	1675	\$1.00	\$1,675.00	\$0.76	\$1,273.00
	39	FULL DEPTH SAWCUT	LF	1983	\$2.50	\$4,957.50	\$2.35	\$4,660.05
	40	DRILL TIE BARS	EA	120	\$9.00	\$1,080.00	\$30.00	\$3,600.00
	41	DRILL DOWEL BARS	EA	155	\$16.50	\$2,557.50	\$30.00	\$4,650.00
	42	F&I TERRACE RESTORATION	SY	19580	\$0.01	\$195.80	\$4.25	\$83,215.00
	43	F&I SEED, FERTILIZER & TYPE A EROSION MAT	SY	19580	\$0.01	\$195.80	\$2.50	\$48,950.00
	44	F&I TYPE D INLET PROTECTION	EA	58	\$97.15	\$5,634.70	\$75.00	\$4,350.00
	45	ADJ. STO MH CASTING	EA	38	\$150.00	\$5,700.00	\$775.00	\$29,450.00
	46	ADJ. SAN MH CASTING	EA	24	\$150.00	\$3,600.00	\$795.00	\$19,080.00
	47	ADJ. INLET CASTING	EA	10	\$150.00	\$1,500.00	\$825.00	\$8,250.00
	48	REMOVE INLET/MH & MAIN/LEAD	EA	23	\$515.00	\$11,845.00	\$975.00	\$22,425.00
	49	ABANDON INLET/LEAD	EA	4	\$450.00	\$1,800.00	\$975.00	\$3,900.00
	50	F&I 48" STORM MH	VF	10	\$224.00	\$2,240.00	\$1,500.00	\$15,000.00
	51	F&I SANITARY MH CASTING ONLY	EA	6	\$128.00	\$768.00	\$625.00	\$3,750.00
	52	F&I STORM MH CASTING ONLY	EA	6	\$128.00	\$768.00	\$600.00	\$3,600.00
	53	F&I "E" INLET CASTING ONLY	EA	35	\$178.00	\$6,230.00	\$165.00	\$5,775.00
	54	F&I "C" INLET CASTING ONLY	EA	3	\$0.01	\$0.03	\$850.00	\$2,550.00
	55	F&I "C" INLET W/CASTING	EA	2	\$1,000.00	\$2,000.00	\$5,500.00	\$11,000.00
	56	F&I "E" INLET W/CASTING	EA	20	\$1,000.00	\$20,000.00	\$5,900.00	\$118,000.00
	57	F&I 12" STORM INLET MAIN/LEAD	LF	165	\$131.70	\$21,730.50	\$125.00	\$20,625.00
	58	F&I 6" STORM LATERAL	LF	30	\$20.00	\$600.00	\$75.00	\$2,250.00
	59	STORM LATERAL HOOK-UP	EA	2	\$50.00	\$100.00	\$675.00	\$1,350.00
	60	F&I 6" MINI SEWER	LF	30	\$20.00	\$600.00	\$80.00	\$2,400.00
	61	F&I SAN MH SEAL -(0"-12")	EA	13	\$650.00	\$8,450.00	\$575.00	\$7,475.00
	62	F&I SAN MH SEAL - (12"-18")	EA	12	\$25.00	\$300.00	\$875.00	\$10,500.00
	63	F&I SAN MH SEAL - (18"+)	EA	7	\$25.00	\$175.00	\$900.00	\$6,300.00
	64	REMOVE EXISTING PAVEMENT MARKING	LF	965	\$7.00	\$6,755.00	\$7.00	\$6,755.00
	65	REMOVE EXISTING PAVEMENT MARKING ARROWS/SYMBOLS -WATER BLAST	EA	4	\$175.00	\$700.00	\$175.00	\$700.00
	66	PAVEMENT MARKING (EPOXY) (4")	LF	745	\$1.30	\$968.50	\$1.30	\$968.50
	67	PAVEMENT MARKING (EPOXY) (6") (CENTERLINE)	LF	7180	\$1.60	\$11,488.00	\$1.60	\$11,488.00
	68	PAVEMENT MARKING (EPOXY) (6") (CROSSWALKS)	LF	465	\$12.25	\$5,696.25	\$12.25	\$5,696.25
	69	PAVEMENT MARKING (EPOXY) (8")	LF	350	\$2.60	\$910.00	\$2.60	\$910.00
	70	PAVEMENT MARKING (EPOXY) (18")	LF	165	\$20.00	\$3,300.00	\$20.00	\$3,300.00
	71	PAVEMENT MARKING (EPOXY) (ARROWS/SYMBOLS/WORDS)	EA	19	\$350.00	\$6,650.00	\$350.00	\$6,650.00
	72	PAVEMENT MARKING (EPOXY) (ISLAND NOSE)	EA	5	\$355.00	\$1,775.00	\$355.00	\$1,775.00
	73	TRAFFIC SIGNAL EVP DETECTOR CABLE - CITY FURNISHED	LF	93	\$1.00	\$93.00	\$1.00	\$93.00
	74	TRAFFIC SIGNAL CONTROLLER AND CABINET ASSEMBLY	EA	1	\$1.00	\$1.00	\$1.00	\$1.00
	75	ETHERNET SWITCH	EA	1	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00
	76	SINGLE PANEL HOUSING	EA	2	\$1.00	\$2.00	\$1.00	\$2.00
	77	CLOSET CONNECTOR HOUSING	EA	3	\$1.00	\$3.00	\$1.00	\$3.00
	78	NUMBER OF FIBER OPTIC CABLE TERMINATIONS	EA	36	\$50.00	\$1,800.00	\$50.00	\$1,800.00
	79	F&I TEMPORARY MAILBOX	EA	135	\$30.00	\$4,050.00	\$100.00	\$13,500.00
	80	NOTIFY PROPERTY OWNERS	LS	1	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
	81	F&I TRAFFIC CONTROL	LS	1	\$94,700.00	\$94,700.00	\$123,500.00	\$123,500.00
	82	CONDUIT RIGID NONMETALLIC SCHEDULE 80 2-INCH	LF	694	\$12.00	\$8,328.00	\$12.00	\$8,328.00
	83	CONDUIT RIGID NONMETALLIC SCHEDULE 80 3-INCH	LF	38	\$16.00	\$608.00	\$16.00	\$608.00
	84	CONDUIT SPECIAL 2-INCH	LF	689	\$28.00	\$19,292.00	\$28.00	\$19,292.00
	85	CONDUIT SPECIAL 3-INCH	LF	88	\$32.00	\$2,816.00	\$32.00	\$2,816.00
	86	PULL BOXES STEEL 24X36-INCH	EA	1	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00
	87	REMOVE PULL BOX	EA	1	\$75.00	\$75.00	\$75.00	\$75.00
	88	CONCRETE BASE TYPE 1 SPECIAL	EA	4	\$1,575.00	\$6,300.00	\$1,575.00	\$6,300.00
	89	CONCRETE BASE TYPE 2 SPECIAL	EA	2	\$1,875.00	\$3,750.00	\$1,875.00	\$3,750.00
	90	CONCRETE BASE TYPE 5	EA	2	\$1,775.00	\$3,550.00	\$1,775.00	\$3,550.00
	91	CONCRETE BASE TYPE 10	EA	2	\$7,800.00	\$15,600.00	\$7,800.00	\$15,600.00
	92	CONCRETE BASE TYPE 10-SPECIAL	EA	2	\$12,800.00	\$25,600.00	\$12,800.00	\$25,600.00

Section Title A-26 BASE BID	Line Item	Item Description	UofM	Quantity	Vinton Construction Company		Zignego Company, Inc.	
					Unit Price	Extension	Unit Price	Extension
	93	CONCRETE BASES CABINET BASEMENT PRECAST SPECIAL	EA	1	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00
	94	CABLE TRAFFIC SIGNAL 3-14 AWG - UNDERGROUND	LF	40	\$1.75	\$70.00	\$1.75	\$70.00
	95	CABLE TRAFFIC SIGNAL 5-14 AWG - UNDERGROUND	LF	465	\$1.95	\$906.75	\$1.95	\$906.75
	96	CABLE TRAFFIC SIGNAL 7-14 AWG - UNDERGROUND	LF	280	\$2.25	\$630.00	\$2.25	\$630.00
	97	CABLE TRAFFIC SIGNAL 16-14 AWG - UNDERGROUND	LF	1330	\$4.75	\$6,317.50	\$4.75	\$6,317.50
	98	TRAY CABLE FOR STREET LIGHTING 3 CONDUCTOR 12 AWG	LF	2050	\$2.75	\$5,637.50	\$2.75	\$5,637.50
	99	ELECTRICAL WIRE TRAFFIC SIGNALS 10 AWG	LF	1650	\$1.00	\$1,650.00	\$1.00	\$1,650.00
	100	ELECTRICAL WIRE LIGHTING 12 AWG	LF	1980	\$0.90	\$1,782.00	\$0.90	\$1,782.00
	101	ELECTRICAL SERVICE METER BREAKER PEDESTAL	EA	1	\$1,950.00	\$1,950.00	\$1,950.00	\$1,950.00
	102	INSTALL PEDESTAL BASES	EA	4	\$150.00	\$600.00	\$150.00	\$600.00
	103	INSTALL TRANSFORMER BASES BREAKAWAY 11 1/2-INCH BOLT CIRCLE	EA	4	\$150.00	\$600.00	\$150.00	\$600.00
	104	INSTALL POLES TYPE 4	EA	1	\$400.00	\$400.00	\$400.00	\$400.00
	105	INSTALL POLES TYPE 4 SHORT	EA	2	\$400.00	\$800.00	\$400.00	\$800.00
	106	INSTALL POLES TYPE 5 - ALUMINUM	EA	1	\$400.00	\$400.00	\$400.00	\$400.00
	107	INSTALL TRAFFIC SIGNAL STANDARDS ALUMINUM 13-FT	EA	2	\$100.00	\$200.00	\$100.00	\$200.00
	108	INSTALL TRAFFIC SIGNAL STANDARDS ALUMINUM 7.5-FT	EA	2	\$100.00	\$200.00	\$100.00	\$200.00
	109	INSTALL POLES TYPE 10	EA	2	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
	110	INSTALL POLES TYPE 9 SPECIAL	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	111	INSTALL POLES TYPE 10 SPECIAL	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	112	INSTALL MONOTUBE ARMS 20-FT	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	113	INSTALL MONOTUBE ARMS 25-FT	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	114	INSTALL MONOTUBE ARMS 45-FT-SPECIAL	EA	2	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
	115	INSTALL LUMINAIRE ARMS STEEL 8-FT	EA	2	\$850.00	\$1,700.00	\$850.00	\$1,700.00
	116	INSTALL LUMINAIRE ARMS STEEL 12-FT	EA	1	\$850.00	\$850.00	\$850.00	\$850.00
	117	INSTALL LUMINAIRE ARMS SINGLE MEMBER 4 1/2-INCH CLAMP 4-FT	EA	2	\$200.00	\$400.00	\$200.00	\$400.00
	118	INSTALL LUMINAIRE ARMS SINGLE MEMBER 4-INCH CLAMP 4-FT	EA	2	\$200.00	\$400.00	\$200.00	\$400.00
	119	INSTALL LUMINAIRE ARMS SINGLE MEMBER 4-INCH CLAMP 12-FT	EA	1	\$200.00	\$200.00	\$200.00	\$200.00
	120	TRAFFIC SIGNAL FACE 3S 12-INCH	EA	12	\$695.00	\$8,340.00	\$695.00	\$8,340.00
	121	TRAFFIC SIGNAL FACE 4S 12-INCH	EA	4	\$910.00	\$3,640.00	\$910.00	\$3,640.00
	122	PEDESTRIAN SIGNAL FACE 16-INCH	EA	8	\$540.00	\$4,320.00	\$540.00	\$4,320.00
	123	INSTALL AUDIBLE PEDESTRIAN PUSH BUTTONS	EA	8	\$275.00	\$2,200.00	\$275.00	\$2,200.00
	124	SIGNAL MOUNTING HARDWARE	EA	1	\$6,800.00	\$6,800.00	\$6,800.00	\$6,800.00
	125	INSTALL SIGNAL MOUNTING HARDWARE TYPE 1 ORNAMENTAL	EA	1	\$2,800.00	\$2,800.00	\$2,800.00	\$2,800.00
	126	INSTALL LUMINAIRES UTILITY LED B	EA	2	\$200.00	\$400.00	\$200.00	\$400.00
	127	INSTALL LUMINAIRES UTILITY LED C	EA	6	\$200.00	\$1,200.00	\$200.00	\$1,200.00
	128	FIELD SYSTEM INTEGRATOR	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
	129	ITS DOCUMENTATION	EA	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	130	REMOVE CABLE	LF	2330	\$2.00	\$4,660.00	\$2.00	\$4,660.00
	131	REINSTALL CABLE	LF	695	\$2.00	\$1,390.00	\$2.00	\$1,390.00
	132	COMMUNICATION SYSTEM TESTING	EA	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	133	FIBER OPTIC CABLE OUTDOOR PLANT 12-CT	LF	2020	\$2.50	\$5,050.00	\$2.50	\$5,050.00
	134	FIBER OPTIC TERMINATION PANEL (CB1)	EA	1	\$1,180.00	\$1,180.00	\$1,180.00	\$1,180.00
	135	INSTALL FIBER OPTIC COMMUNICATIONS IN CABINET (CB1)	EA	1	\$800.00	\$800.00	\$800.00	\$800.00
	136	INSTALL FIBER OPTIC COMMUNICATIONS IN CABINET (CB2)	EA	1	\$800.00	\$800.00	\$800.00	\$800.00
	137	INSTALL CITY FURNISHED VIDEO DETECTION SYSTEM	EA	1	\$5,700.00	\$5,700.00	\$5,700.00	\$5,700.00
	138	INSTALL CITY FURNISHED GPS EVP DETECTOR HEADS & CABLE	EA	1	\$2,200.00	\$2,200.00	\$2,200.00	\$2,200.00
	139	TRANSPORT TRAFFIC SIGNAL & INTERSECTION LIGHTING MATERIALS	EA	1	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
	140	UTILITY LINE OPENING	EA	4	\$1,850.00	\$7,400.00	\$1,425.00	\$5,700.00
	141	FIBER OPTIC TERMINATION PANEL (CB2)	EA	1	\$1,180.00	\$1,180.00	\$1,180.00	\$1,180.00

Base Bid Total:

\$3,755,429.12 \$4,336,918.99